
                                  Installation Instructions 
        Aluminium Front Sprocket Cover F650GS

September 2000

These instructions are at our current level of knowledge.  Legal requirements do not exist.  Technical issues subject to change.

Contains:
1 x Front sprocket spray cover (A)
1 x Front sprocket cover with holes (B)
1 x Screw hex M6x55
1 x Screw hex M6x50
2 x Washer small M6

Installation:

Remove the stock sprocket cover and attach the Touratech aluminium cover with supplied screws
M6x50 (bottom) and M6x55 (top) and washers.
Make sure to insert the screws through the sprocket cover as well as the spacers that are welded on the
spray cover.  Spray cover may sometimes need to be pressed slightly to match bores to the 
attachment points on the motor.

TOURING   RALLYE   RACING    TECHNOLOGY

09-300-0110-1

A

B

M6x50

M6x55


